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CBoaHble AaHHble
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Wioro
ceM. 1fcem. 2| Bcero|ceM. 3|ceMm. 4| Bcero|cem. 5cem. 6 Bcero|cem. 7|cem. 8| Bcero
TeODETUYECKOE OBVUEHME 17 18 | 35 17 17 | 35 17 17 | 35 16 12 | 28 | 135
P Y 2/6 | 1/6 | 3/6 | 4/6 | 5/6 | 3/6 | 4/6 | 5/6 | 3/6 | 4/6 | 1/6 | 5/6 | 2/6
3 |3K3aMeHaUNOHHbIe ceccumn 2 |32/6|52/6] 2 2 4 |24/6|24/6|52/6|24/6] 4/6 |3 2/6] 18
YuebHasi npakTuka 2 2 2
M [[pou3BoacTBEHHas NpakTuka 32/6|3 2/6 2 2 52/6
MNa |MNpeaaMnnoMHas npakTuka 24/6|24/6|24/6
3alwmTa BbIMNYCKHON KBanMUKaLMOHHOM
[ |paboTbl, BKIKOYas NOArOTOBKY K 4 4 4
npoueaype 3almTbl 1 Npoueaypy 3awuThbl
r MoaroToBka K cAaye v caaya roc. 5 5 5
JK3aMeHa
K [KaHukynbl 1 6 7 1 6 7 1 6 7 1 8 9 30
MpoaomkuTenbHOCTL 06yyeHus [
(He Bk/tOYas Hepaboune npasgHUYHbIE OHU U 6onee 39 Hea 6onee 39 Hea 6onee 39 Hea 6onee 39 Hea
KaHWKyIbl)
Toro 20 | 29 | 49 | 20 | 29 | 49 | 21 28 1 49 | 20 | 29 | 49 | 199
2/6 1 3/6 15/6| 4/6 | 1/6 |5/61] 2/6 1 3/6 15/6] 2/6 | 3/6 |1 5/6]| 2/6
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